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Pracownicy	
  instytucji	
  –	
  sesja	
  5	
  

Samoocena	
  -­‐	
  pytania	
  
	
  

1. Kiedy	
  dziecko	
  rozwinie	
  wzór	
  przywiązania	
  unikającego,	
  próbuje	
  wtedy:	
  
a. zachowywać	
  się	
  w	
  stosunku	
  do	
  rówieśników	
  jak	
  dorosły	
  
b. być	
  swoim	
  własnym	
  rodzicem	
  
c. wyglądać	
  bardziej	
  dziecinnie	
  wobec	
  swoich	
  opiekunów	
  niż	
  faktycznie	
  to	
  ma	
  miejsce	
  
d. wyglądać	
  bardziej	
  dziecinnie	
  wobec	
  swoich	
  rówieśników	
  niż	
  faktycznie	
  to	
  ma	
  miejsce	
  

	
  
2. Wzory	
  zachowań	
  odzwierciedlają:	
  

a. relację	
  z	
  pierwszymi	
  opiekunami	
  
b. osobowość	
  dziecka	
  
c. stosunek	
  dziecka	
  do	
  rówieśników	
  
d. osobowość	
  odziedziczoną	
  przez	
  dziecko	
  po	
  jego	
  rodzicach	
  

	
  
3. Wzór	
  zachowania	
  unikającego	
  mógł	
  się	
  rozwinąć	
  kiedy:	
  

a. opiekun	
  okazuje	
  dziecku	
  zbyt	
  wiele	
  uczucia	
  
b. opiekun	
  jest	
  zbyt	
  dostępny	
  	
  
c. oba	
  powyższe	
  	
  
d. żadne	
  z	
  powyższych	
  

	
  
4. Jeżeli	
  dziecko	
  doświadcza	
  wielu	
  wczesnych	
  zmian	
  opiekunów,	
  istnieje	
  prawdopodobieństwo,	
  że	
  

rozwinie:	
  
a. zdrowe	
  przywiązanie	
  
b. brak	
  przywiązania	
  lub	
  przywiązanie	
  negatywne	
  
c. zdrowe	
  przywiązanie	
  tylko	
  w	
  stosunku	
  do	
  przedmiotów	
  i	
  czynności	
  
d. zdrowe	
  przywiązanie	
  do	
  osób,	
  które	
  nie	
  są	
  ich	
  opiekunami	
  

	
  
5. Dzieci	
  o	
  zachowaniu	
  unikającym	
  uczą	
  się	
  tłumić	
  posiadaną	
  potrzebę	
  opieki	
  ze	
  strony	
  opiekunów	
  

poprzez:	
  
a. przywiązywanie	
  się	
  do	
  rówieśników	
  
b. nadmierne	
  przywiązywanie	
  się	
  do	
  jednego	
  opiekuna	
  
c. nadmierne	
  przywiązywanie	
  się	
  do	
  przedmiotów	
  i	
  czynności	
  
d. wszystko	
  powyżej	
  

	
  

	
  
	
  
	
  
	
  
	
  
	
  

Rozwiązanie:	
  1b;	
  2a;	
  3d;	
  4b;	
  5c	
  


